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PRT [Without Physical Education] 

Q 1). Which ministry has recently launched the ‘Ideas4LiFE initiative’ to promote 

environmental sustainability? 

(A) Ministry of Science & Technology 

(B) Ministry of Environment, Forest & Climate Change 

(C) Ministry of Civil Aviation 

(D) Ministry of Defence 

Correct Answer: (B) 

Q 2). Recently in July-August 2024, Olympic Games 2024 has been held at which of the 

following venues?  

(A) Rome, Italy 

(B) Paris, France  

(C) New Delhi, India  

(D) Dubai, U.A.E. 

Correct Answer: (B) 

Q 3). Give name of the country that has become 101st member of International Solar Alliance 

recently. 

(A) India 

(B) Bhutan 

(C) Nepal 

(D) Bangladesh 

Correct Answer: (C) 

Q 4). Which one from the following is not the Curriculum Development Model? 

(A) Advance Organizer Model 

(B) Hilda Taba’s Model 

(C) Tyler’s Model 

(D) Saylor and Alexander’s Model 

Correct Answer (A) 

Q 5). In which stage, children are able to think about things in terms of consistent physical 

features? 

(A) Sensory Motor 

(B) Concrete Operational 

(C) Pre-Operational 

(D) Formal Operational 

Correct Answer: (C) 
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Q 6). Which of the following is not the main feature of RTE Act? 

(A) Free Elementary Education for all children in age group 6-14 years in a neighbourhood 

school. 

(B) Completion of Elementary Education even after fourteen years of age. 

(C) Private Tuitions by teachers is not prohibited. 

(D) No child is denied admission due to lack of age certificate. 

Correct Answer: (C) 

Q 7). Silkworm can find its female by which of the following? 

(A)  Smell 

(B)  Sound 

(C)  Colour 

(D)  Going around 

Correct Answer: (A) 

Q 8). Loudness measures the sound energy reaching the ear per second and depends on the 

amplitude of the sound wave. What is the unit used to measure the loudness of sound? 

(A) Hertz 

(B) Decibel 

(C) Metre/second 

(D) Per second 

Correct Answer: (B) 

Q 9). Give name of the process by which liquid water changes to water vapour. 

(A) Evaporation 

(B) Condensation 

(C) Precipitation 

(D) Freezing 

Correct Answer: (A) 

Q 10). Which of the following vegetable does grow under the soil? 

(A) Tomato 

(B) Brinjal 

(C) Potato 

(D) Cauliflower 

Correct Answer: (C) 
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Q 11). A political system in which supreme authority is vested in the King is called ______. 

(A) Democracy 

(B) Constitution 

(C) Monarchy 

(D) Dictatorship 

Correct Answer: (C) 

Q 12). Who was supported by a wise man named Chanakya? 

(A) Ashoka 

(B) Bindusar 

(C) Chandragupta 

(D) Akbar 

Correct Answer: (C) 

Q 13).  Which of the following is the oldest Vedas? 

(A) Samaveda  

(B) Atharvaveda  

(C) Yajurveda  

(D) Rigveda  

Correct Answer: (D) 

Q 14). If 6789 + 9876 − 123 = N, then what is the value of ‘N’? 

(A)  16442 

(B)  17442 

(C)  17542 

(D)  16542 

Correct Answer: (D) 

Q 15). The number which is divisible by 108, is also divisible by_____. 

(A)  36, 24, 12, 8, 6 

(B)  36, 16, 12, 8, 6 

(C)  36, 18, 12, 9, 3 

(D)  36, 27, 18, 14, 3 

Correct Answer: (C) 

Q 16). What is the solution of the equation 
1

𝑥−4
  +

2

𝑥−7
  = 0? 

(A)  3 

(B)  5 

(C)  −15 

(D)  −6 

Correct Answer: (B) 
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Q 17). Which of the following options is correct in order? 

1. Are filled with rain 

2. Monsoon Clouds 

3. Cool again 

4. Make u feel 

(A) 2, 1, 4, 3 

(B) 4, 2, 3, 1 

(C) 2, 3, 1, 4 

(D) 1, 4, 3, 2 

Correct Answer: (A) 

Q 18). “The School Boy” is a poem by _________. 

(A) W B Yeats 

(B) William Blake 

(C) John Keats 

(D) P. B. Shelley 

Correct Answer: (B) 

Q 19). 'शिक्षा-पद्धशि' में कौन सा समास है? 

(A) बहुव्रीशह समास 

(B) कममधारय समास 

(C) ितु्परुष समास 

(D) शिगु समास 

Correct Answer: (C) 

Q 20). 'वही मनुष्य है शक जो मनुष्य के शिए मरे' काव्य-पंक्ति शकस कशव की है? 

(A) रामनरेि शिपाठी 

(B) मैशििी िरण गुप्त 

(C) रामधारी शसंह शिनकर 

(D) श्रीधर पाठक 

Correct Answer: (B) 

______________________ 

 

 

 


